
Garden 
Dump 
Cart

Owners Manual
Model GOR200-D

For product inquiries:
Tricam
7677 Equitable Drive
Eden Prairie, MN 55344
800-867-6763
www.tricam.com 10/06

• Important Safety Instructions
• Assembly Instructions
• Parts and Hardware Identification

CAUTION: Read, understand and follow ALL instructions before using this product.

U.S. Patent No. 6,851,756
Other U.S. and Foreign

Patents Pending

DO NOT EXCEED MAXIMUM OVERALL LOAD CAPACITY 600 LBS. 
MAXIMUM DUMPING LOAD CAPACITY 300 LBS.
WEIGHT RATING BASED ON EVENLY DISTRIBUTED LOAD.

CAUTION

Using the Dumping Feature
To operate the dumping feature, pull the dumping
release handle outward to release the plastic bed from
the locking mechanism. Lift up the release handle to
rotate cart upward into the dumping position.

Returning the Plastic Bed to the
Lowered Position
Rotate the plastic bed back down to the lowered position.
Make sure the dumping release handle is locked into place
when the cart is in the lowered position.

GOR200-D Manual  10/26/06  3:32 PM  Page 1



Step 3
Assemble lock to tub using
truss head M8X20 bolts
(4pcs.), M8 lock nuts
(4pcs.), washers (4pcs.).

Step 2
Attach the rear axle assembly and rear axle support
bar to the tub using M8X40 truss head bolts (2pcs.),
M8 lock nuts (2pcs.), and washers.  Then attach left
and right rear struts to the tub using M8X20 truss head
bolts (4pcs.), M8 locknuts, and washers.

1. READ ALL INSTRUCTIONS CAREFULLY BEFORE USE.  If you do not understand these instructions, need clarification or
further explanation, please call our toll free answer line for assistance at 1-800-867-6763.

2. Do not load Garden Dump Cart with more than 600 lbs. (272 kg). Do not use the dumping feature of the Garden Dump
Cart with more than 300 lbs. (136 kg). Weight rating based on evenly distributed load.

3. Do not allow children to use the Garden Dump Cart unsupervised. This Garden Dump Cart is not a toy.
4. This product is not to be used for transporitng passengers.
5. This product is not to be used for highway use.
6. Always distribute payload evenly over the surface of the bed.
7. Do not load any items on the top edges of the plastic tray.
8. If any parts become damaged, broken, or misplaced, do not use the Garden Dump Cart until replacement parts 

can be obtained.
9. Do not operate or use on objects that can cause damage to the pneumatic tires or tubes. 

Do not inflate tires to more than 30 PSI / 2.07 BAR.
10.SAVE THESE INSTRUCTIONS!

Your Garden Dump Cart requires assembly. Account for all parts and hardware before beginning assembly. If any parts are
missing or damaged, or if you have any questions or need additional instructions, call the manufacturer at 1-800-867-6763.

Tools required for assembly: standard screwdriver, phillips screwdriver and socket set (or two adjustable wrenches).

Step 1
The left and right rear struts are preassembled to the
rear axle frame as shown below.

Step 5
Assemble rear axle assembly to tub using M8X20 truss
headbolts, M8 lock nuts, and washers.

Step 6
Assemble the wheels using bushings (4pcs.), washers
(4pcs.), and cotter pins (4pcs.).

Step 4
Assemble front axle assembly to
front frame using M8X40 bolts
(2pcs.), M8 lock nuts (2 pcs.),and
washers (2pcs.). Then attach front
axle support arm to frame using
M8X20 hex headbolts (2 pcs.), lock
nuts (2 pcs.), and washers (2pcs.).

Important Safety Instructions

Assembly Instructions

Swivel Handle Instructions
Step 1
Remove clips and cotter pins.

Step 2
Rotate the handle and insert cotter pin. Secure by
attaching the clip.

Step 3
The second cotter pin is used to attach the handle to the
trailer hitch.

Step 7
Assemble the handle to the yoke using M8X60 bolt (1pc.),
M8 lock nut (1pc.) and washer (1pc.).

GOR200-D Manual  10/26/06  3:32 PM  Page 2



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<

  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks true
      /AddColorBars true
      /AddCropMarks true
      /AddPageInfo true
      /AddRegMarks true
      /BleedOffset [
        27
        27
        27
        27
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing false
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


